G-BREAK GARO
J—Ea—-XFL—%h
iR A E

Instruction Manual for
Moulded Case Circuit
Breakers

Fzzt (Types)

(Adjustable Thermal Magnetic Types)
GS160-5CJ, GS160-S)

EIHER 2ERICERHOBF L TCATICREL TTIV EFHTRARTVEWETRW,
RUSE- BN CE- TECAIEEICEL T B — ) BiFERLERA.

Please retain this manual for future reference.The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application of the
instructions provided herein.

Garo Montage AB
Box 34

SE-33521 GNOSJO
Tel. +46 370 33 28 90
www.garo.se

2G0944SAA(KRB-0602)

e

BT, 6860, RF AROFIC BT EBLZOMDN B RS HHEE BROMNH RO
# ROSFEEEOSTICERL THSHEIRVWTEW, CORRFHE TR, REFEEED
S0 ek, TERIELTE AL THIET,

IABER] BURVE RS 1 B AIC, ABRARRRAED R T, L d B84 B 3 TR A
BRINDIBE
&EENW&M%ﬁot%émﬁﬁmﬁﬁﬁﬁbit¢EE®§§¢§%&§H%
RN RTINS B A,

BE, (NIE CEBLEEETLS RRCL - THEARERICBU OUSENBLET,
WINLEBLRBTTOTRT T>TTE W,

BRI LOFEE WICLEASBORBTAIENSIOS/EBBLTTEV,)

AFE - '

OERTHLFERE (BRITHD)AT>TTEN, ]
2R ST BEORE ERENA IRE FRQLRABRRICREBELBVTTIW, |
KKDFREEAR-STED, ERCEELRWEENSBOET, |

O, V7~ H K MBEDRYRVTRBEN L —ARBIRALBRNESK |
BILTTEW, AROREEASTD TBEDHEZIABDET . |

OFETERR, LUTL—0iE%0 (OFF) LU, FELTOWRWIEEREEL TIT>TTEW,
BEORZThIHBNET .

Q4BERTL—ADHE IVIBXOFERIHIN
B FICN K ORELRROFT,

@3 FRURRESGRNII TREICH NI TTEV. KKORRELRDET,

@i ThUDE MR U, n T ERIC R AN ‘mn =51 LB E]
MSRNESIEL TTEW SR FERADBARARIS AL  o TE-M—L‘ a7 | ’—"—%
=]

CESGLTTEWBERT

KKEDBENHBHET,

OREH /L —NBRAOBEAEE, 7L —Ni%E
FTETIRRLT TSV, RFNUFZHREESh TWSB AR TERL BR7—7ET
HFNUP EERZETERUTTEWV. RS ERIEET 28 ZTNABOET,

@ 7O HAPEH OIRISHRNTT —I AR—R (R IEE) 5+ D RERLTTEW. MBHT T
SRWGEDLHDET,

BER L OER
A fei |
|
@R FERIC NN T TSN, %E@ﬁ%ﬂb%bi?a |
& II:E\ |

O Ik Uy T GERT) LB aiE, REAIRNBRVTABAVRILE | (ON) IELT |
TEW, KEFR(ELBR)AEMLELBER. TL—PAZABLTTEIWV, KKD
BEDBOET.

l{%'-'!’ SREDER

&II'E ——

. 0{%1 AR EFINRES TEANTT T TR, '
QFRF BRI LRIV L—728%0 (OFF) [l FEBL TVWRWZ EEREBEL TIT> T TEW,
BEBOKENHHHET,
@i FhRli, Eﬁﬂﬁﬂuﬁﬁﬁﬁh)b??iébﬁm"(?éu KEDRELENET,

l%o)fth),EEE
- NREREDOU-RHERF > TREETLGWTTEW, RED RRERDET,

» L= NOEEOHN—GEFRWTTEN, i RBEERIFCEEE A

LA ERTIERP AR ERERICEL LHEBEOS OEEALTFEW,
MEEA N EWE REBFERFBROBEETANBHOET .

(1] Safety Notices
Be sure to read these Instructions and other associated documents accompanying the
product thoroughly to be familiarize yourself with the product handling, safety information, and
all other precautions before mounting, using. servicing, or inspecting the product. In these
Instructions, safety noticas are divided into "Warning" and "Caution" according to the hazard
level:

[AWarning] : A warning notice with this symbol indicates that neglecting the suggested
pracedure ar practice could result in lethal or serious personal injury.

ACaution } : A caution notice with this symbol indicates that neglecting the suggested
procédﬂfe or practice could result in moderate or slight personal injury and/or property damage,
Note that failing to observe {4 Caution| notices could result in serious results in some cases.
Because safely natices contain important information, be sure to read and observe them.

EMounting Precautions

AN Caution

| @Electrical work should only be undertaken by suitably qualified persons.

@ Do not place the product in an area that is subject to high temperature, high humldlty
: excessive dusty air, carrosive gas, strong vibration and shock, or other unusual
i conditions. Mounling in such areas could cause a fire or malfunction.

| ®Be carelul to prevent foreign objects (debris, concrete powder. iron powder, etc.) and

rainwater fram entering product. These materials inside the product could cause a fire |

| or malfunction. |
| @Prior to commencing any wark on the product, open an upstream circuit breaker or isolator to
| ensure that no valtage is applied to the product. Otherwise, electrical shock may result,

| @For 4-pole breakers, be sure to connect a neutral conductor to the N pole. Otherwise, an |
i over-current may hinder the product from tripping, thus resulting in a fire,

—_—

cireuit,

@When connecting cable or busbar to the product, tighten terminal screws to the torque
spacified In this manual. Otherwise, a fire could result.

@Even when tightening the terminal screws and
after conductor connection, do not apply excessive
force to the terminals, Olherwise, a fire may result.

@For front-connecled breakers, Insulate all bare
conductors of the line side until the breaker end. If interpole barriers are packed, be
sure to use the barriers; moreover, insulate all bare conductors by insulating tape or the
like so that the tape overlaps with the barriers. Insufficient insulation may resuit in short-

ot
=)

@Do not block the arc gas vents of the product to ensure adequate arc space. Blocking
these vents could result in failure of circuit interruption.

EHandling Precautions

&Waﬁling_

@Never touch terminals, Otherwise, electric shock may result,

A\ Caution

@When the breaker trips open automatically, remove the cause, then return the
handle to the | (ON) position. Should a fault be interrupted, the breaker must be
inspected. Otherwise, a fire may result.

HEMaintenance Precautions

knowledge.

EOther Precautions

A\ Caution

@Service and/or inspection of the product must be done by persons having expert

@Before servicing or inspecting the product, open an upstream circuit breaker or the
like to isolate all sources of power. Otherwise, electric shock may result.
@Regularly check that the breaker terminal screws are tightened to torque values
shown within this manual, failure to do so may result in fire,

—

+ Do not carry this product by accessary leads, as this may cause damage to the

product.

+ Unauthorised opening of the breaker cover will invalidate product warranty,
+ When installing the product, use wires or conductors, the cross sectional areas of
which accommodate the rated current of the product. Using wires or conductors with
inadequale cross sectional areas may cause false tripping and overheat.

ZIRAYM—E/ VELHESTE Packaged ltems / Assembly Tools

2 BURHBE
af | (5B

lﬁﬂm,ﬂ,oﬂ)’ Instruction Manual: 1

L /| (This document)
WE/NUT (FCOH)
Interpale Barrier
B (Only FC)
| 2P: 1
{ 3p: 2
4P:3
a5 |  BATpe
[ﬁ/% T e T L
| Poles [ Eeath # | BRl
| - 1 Mounfingsorew |ty | Comeetingsorew
9P] 2 l o [2P] 4 |15-50A ?E
— P 2 | M4x6I1 5 3P| 8 ERB  (MS5x12 |G |
Iﬁﬁfmm) "‘P'L 2| & _ WP B FxTypes | _|
| Connection 2P| 2| 2P| 4 60 160A | -
| I : ?| 6 2 P
| li»;l _g_ M 4 x 61 [P ;ﬁggs_ M8x 14 @
BEVRC) | 20| 2 2P| 4 |S50SF |M6x22
Rear P, 2 | M4xel 3P| 6 | zom -M8x23
Connectian l4P| | 4P| 8 Othﬁ | i |
AWM [P 2 Pl ¢ [
| Plug-in [3Pt__ 2 | M4x75 s)w Pl 6 | M6 @‘i@
Connection [4P| 2 | _ﬁ_f_ | MG — |
s | 2P 4 | 2P| 4 |S50-8F TM6x22
PstPee |30 4 | M5x15 (3PP [ 6 Tram [y 00 \Ym ‘
._\'J_'ﬁ.‘:e_"}‘?'ﬂ*.i_f’ i = [4] & |Others B
Sy

125 LBk Operating Instructions

s
Handle |

(ON)

O

(OFF)

_ RIS
Trip Button

|' BE | AlLBED |

| Operation i Operation effort |

(O =1 1oM [ #iN |
1 (0N) = O oFF). Al AN l
| TRP=C{OFF) ;784N




Bl REMTBRADEM  Fitting Internal Accessories 3-4 Pole

[Lon |
| e

AR |

AA-AoF 8 D2 DR B
ggx EESRBEIRATT T2,
In case of titing one {or Iwo) auxiliary
switeh, fit in an order fram a lefi sideslot. |

- NERRT . BT ERICBFTSIEER T TS, SER TSN,
* After fitting, verify the function of the Accessory.

WAL
[l
T2AX00M l

Auxiliary Switch

| WA Alarm Swilch
| ToAL00M
BEAL | FRBEIAG |

_’ew‘-’n"’\/l-‘.;{ -_
% CLICKI 2
At

gy

 Auiliary
i affr

% cuicki £ ®& ™ \
e T
/-‘ ﬁtfr*\]‘l N\ "
[ \
| N l
\\ \ l| /
/_‘f} @ i :/
T /\‘\_\x i e
Yy T—%  Ring Mark
BHAT9F | BRALVF
Switch | Alarm Switch

bR 3
__boontact |acontact| b carast
| IVAKCAZRKD | g1a| ¢

el

| Shunt Trip 'E{!ﬂamnrlage‘rﬁp
—_— ]

R | EN
T28HOO | | Teuvoo | |

*BRORES
* Symbols of Accessories

Ei5| =B UBOME  Pull Out Leads on Load Side

RELAS | FEEEIALES

power seuice power source
DDz

B

B4 L Removal

9V/ALe ‘
S-SR | SURNC B2 | VY413 | 92ALD | |

6] AREfTEE REH
Breaker Mounting Procedure
far FC

ZIDINL—ILT & F4A
(FFLaw)

DIN Rail Adaptor (Optional)
3-4 Pole

[BIAGRERISEMR 1AM

Breaker Mounting Procedure

W

for FP

O] AEIRTRE ZAl

Breaker Mounting Procedure for PM

EARGE
| Plug-in Base L

p—

T2PM12LE* |
*:20r3 (5% Poles)

2G0944SAAKRB-0602)

Mo JiAiEEE Z@EW - AR

Conductor Connection Procedure for RC/F.P (Where Applicable)

",

=) STNE

~)N\D AR

Arrangement Set
(0°, 45°, 90°, 135°%)

'I_ETT'}_V"F‘—!
Flit bar styd
850-SF r T2RPOSL S | @
E125-GF —F
§125-SCF| T2RP12L %S ‘
~ |S125-SF 8 o9
e =
*:3ord4 (B Poles)
. :
= M5x14 M6 122
15-508 |8 | '
IEi 2.3 - 26Nm S50-5F 57 a5 him
| e M6x18 Ot |[M8x23
7.8~ 118 Nm Others [ 1.8 - 18.6 him

eI RERDRAEER
Adjustment procedure for adjustable Thermal Magnetic Types

M2EGkixEER REF

Conductor Connection Procedure for FC

Gl 185mm |
HL Smm |
J 16,5 mm
K ~ 8mm
L 5mm {

M Smmmax |
ML SmM ] e oy B SR L — AR EE TS TRBLT AN

+Insulate all bare conductors of the line side until the breaker end.

(E160-SJ, $160-SJ, $160-SCJ DB E)
(for E160-SJ, $160-SJ, $160-SCJ )

A
Flat Bar

[ TOFB12L*B |

b *%: 3 or 4 (EE8Y Poles)

—

| M5x12
k 15-50A 1o ganm
MB8x14
B0-125A 79 6 9 Nm
N T
118~ 166 Nm
M6
|Q 6-8Nm

3 s F/A U 7RG EA
Interpole Barrier
Mounting Procedure

WIA0F |
Intarpets Barmes

T2BA16L*8H
*: 2,3 ord (R Poles)

- RAUVERS OHEFHRTITVET
* When remaving, remove the items in
reverse order of mounting.

BFHN—EFFESR
Terminal Cover
Mounting Procedure

[m B I—
Conneclion]  Terminal Cover
o] #E EPI—
o RG T2CR16L* SG ___%ogneclion Terminal Gover |
2,3 or 4 (152 Poles) EEBRE  [r2crieLksinG
. L1208 |
FC { Srort Tyoe ) T2CH1 GL*.S_SNG |

* AL OSEFETTVET .

* When removing, remove the items in

#:2, 3 0r4 (8% Poles)

reverse order of mounting.

|
|
= !

A8y KAV /0y S BRTEHE

Handle Holder / Lock Mounting Procedure

ORI
Handle Holder/Lock |

| TabasL |

< JORIL LS/ v, | (ON) O (OFF) B0V e M TEET .

+ Handle holdet/ lock can be fitted in any position of (ON) and O(OFF}.

< JUNIL Oy UTERT 31881 OO FRETARIBEMMITTEN,

- When you use this item as the handle lock, please fit padlocks in the procedure of &
- BRALEERIS OB FIETITWET,

= When removing, remove the items in reverse order of mounting.




